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0.05928( 0.1167| 0.2472] 18.43| 44.85 2.8 0.4089( 18.80| 18.84 1.5 25 1.9
0.08370( 0.0201| 0.0995| 18.37( 37.52 2.1  0.2977( 17.74| 17.70 1.3 23 2.2
0.04200| 0.0928[ 0.2426| 18.57| 35.01| 2.1 0.3926| 18.64| 19.26|] 1.7 18 3.9
0.07940| 0.0917( 0.1061| 19.36| 32.85| 2.2| 0.2787| 16.04| 20.86| 1.8 17 2.2
0.07010( 0.0026| 0.2267] 17.40( 28.91 2.7(  0.5175( 17.73| 19.57 3.2 22 3.0
0.07800| 0.1064| 0.0954| 17.18[ 39.73| 2.5/ 0.5474| 16.27| 21.10] 1.6 21
0.07650| 0.0821| 0.3347| 19.31| 33.25| 2.6 0.4427( 17.58| 20.28| 2.1 19
0.02420( 0.0907| 0.2731] 16.77( 39.43 2.4 0.5166( 18.01] 20.95 2.1 18
22 18 19
DVI=DVI(TP) =DVR (bwvi DVR )
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DVR=1 G>< 1 exp A T Th
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